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%Qj(t) = A:Ij(t) + Bu(t) + BATZIZ(t — 7') (1)
y(t) = ! (t)
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*uj(t) = u; (const.), t>t;, je€{l,2,---,m}
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u(t) =v(t) + of{u —v(t)} (2)
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Grar(t) = Apprag(t) + bagr(t) (3)
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o AT AT L DFIA (e(t) = y(t) — yus(t))
Dys(s)e(t) = bp{vo(t) — DT w(®)} + 8L et — 1) + 6L 2(2) (5)
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@m(t) = Fui(t) + guo(t)
@vz(t) = Fui(t) + gy(1)
< @032'(75) = Fugi(t) + grmi(t —7) (1 <i<n) 9)
Cg;vil](t) — FUB]@) + gu]? <.] — jla T 7jp)
\ 22(t) = Fz(t) + Ge(t — 1)
ey(t) = [ean(0), - e ()]
*(F, g) : Alfl#E (RO HuwitzfT /Il F & X7 Fovg (BEtHE) )
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cp(sI — App)~"ops = Wig(s) (11)
*n* — 1 RD Hurwitz %I Nyy(s)
Wirls) = sy = s’ bobmne 4 ¢
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vg(t) = D) w(t) — k(t)es(t)
O(t) = —Tiw(t)es(t) (I =T71 >0) (12)
k(t) = Toes(t)? (I'y > 0)
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thm e(t) =0, thm e(t) =0 (13)
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e1(t) = hien(t), ellt) = cye(t) = e(t)
L afs) = s" +a1s” “'+...+a, (Hurwitz polynomial)
o NA A VI T —NE Tz e p(t) DBRHETE
éf(t) = hyén(t) (15)
hf — [nMn*v RN Mns—15 " an]T (16>
o G5 v(t) DEKENRNTA=FDFa—=v 7 (Pr(-): H5ZHl)
vg(t) = D(t)T w(t) — k(t)e s (1)
O(t) = Pr{-Tw(t)e,(t)} (I'1=T7] >0) (17)
k(t) = Pr{lp¢(t)’} (T2 >0)
o itk € € (0, I*ITH U TLEN: & TR DFRATIIA DK
Thm —/ le(t)||°dt < const. - el/? (18)
T
lenoo T/, e(t)?dt < const. - € 1/2 (19)
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